N of simulated tracks vs transverse vert position
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N of associated tracks (simToReco) vs transverse vert position

10°

10°E

10E

N of simulated tracks vs z vert position

10*

10°

10?

................................................

107 1 10

| N of associated tracks (simToReco) vs z vert position |

10?

10

.........

1« e = el R e

0.95

1072

107 1 10

N of simulated tracks vs.simPVz |

10*

10°

10?

10

1.UD!

0.95°

%0 =16 -10 -5 0 5

10 15 20

[

%530

20 -10 0 10 20 30

| N of asso

ciated tracks (simToReco) vs. sim PV z |

10°E

10k

0.95F
0.9

o
|4

Y
+
ra

+

950

1510 -5 0 5 10 15 20



	Contents
	Page 1


